
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Spare Parts – BR-22 PLUS 
1 UWBR22A01 Replacement handle set with screws and O-ring 
2 UWBR22A03 Head and cable assembly 
3 UWBR22A04 Collet Nut Assembly 
4 UWBR22A05 Flash arrestor assembly 
5 UWBR22A06 Check valve assembly 
6 UWBR22A07 Coupler hose assembly 
7 UWBR22A08 Control valve assembly 
8 UWBR22A09 Valve lever with screw and nut 
9 UWBR22N123 Dash 123 Neoprene O-ring nut to handle seal 

10 UWBR22R02K Replacement handle screw set with nuts 
11 UWBR22R08K Control valve repair kit (O-rings, valve stem, valve nut, and return spring) 
12 UWBR22C38K 3/8” collet and washer kit 
12 UWBR22C14K 1/4” collet and washer kit 
12 UWBR22C18K 1/8” collet and washer kit 
12 UWBR22C316K 3/16” collet and washer kit 
12 UWBR22C516K 5/16” collet and washer kit 
12 UWBR22C532K 5/32” collet and washer kit 
13 UWBR22W38 Silicone rubber collet washer for 3/8” collet 
13 UWBR22W14 Silicone rubber collet washer for 1/4” collet 
13 UWBR22W516 Silicone rubber collet washer for 5/16” collet 
13 UWBR22W00 Silicone rubber collet washer for welding collets 


